EARAROBEEIERT — 2 N— IBISH —F

2012958198 (£) 1EIHR5H

R EEEXY

REEFI

CES&)

HEE] B

‘ [Riz] ¥ ‘ [REBE] — | Z (%) 12000 FHE

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 NEPEFLPEZ, i 3 57_?%1 1:(0_9).4 1-1 35.6| — 7 442 giaf (8
QFLIIVR BILLFFAFAT 2 Hass—n
S 4 3 | AR 1:09.5 3-3 B2 — 2 436 | BIRBHAE (d)
210714 TohAIan 54.0 (3/4) (-4) (B) 7% 77— L
XD THANAN B:T7IIHEH— VAL AN
N - TERAS : — — HwHEZ (FX)
GL—pFIy b # 3 | TELR R A O [ xmER
RTHTNEry b BiFIH LT b RIS
) MLEY = 4 3 5%%1H 171(1):0 4-4 35.5| — 9 ;1_3‘3 ﬁﬁjﬁ; (E#)
LY LTAN—F B:IRX21-TEX pait e
o= - RERE T :10. — . — HEE (Em)
ACNT4EUT« " 56.0 (11 130/43) & .8 1 igf (E)Eﬂ"/?—lx—“/‘/’j
g/ XLy s BN=TxT Ty F VA N
o = BEEE :10. — . = HEE (EXR)
B I Fa—4 4 3 Asaﬁ) 1;({){3 12-12 34.9 8 (4:3‘;4) #El?k?%
R:TAYHCHRZX B:E—FZ AH tF
B FERA— : - — MEEE (E#)
NZZI%E 12—k i 3 RSN 1(.11/02.>4 -1 |35.2 14 (4_2:) xgga%
L:F25 40 BT BR=tt KE77—L4
g . - = HERY i
AR L)Y — f 3 gﬁ?%*ﬂlz 171(1):;1 89 | 35.4 13 ;152(5) g%gﬁg (=)
AR WG4 =0 BT T -1 — AR
£ 3 | HEEA 1:10.4 6-7 355 — 5 442 | =T (GEH)
9815 JTIT g 56.0 \F) (-10) T
R:vTyIRAINZ BEILATv—IL hif Mk
5 s # 3 | FBIRE 1:10.5 8-9 355 — 4 480 | iEHERE ()
10f Q11| T RIVTLD v — 56.0 (7€) ) | W ¥5TLykI5T 5747
R:FaF2 4 BYAILET AXREG2—T7—L
; 43 | HABLF 1:10.6 13-13  [35.0| — 3 412 | AFRE (RR)
11| 2| Y- 7M*=%= 54.0 (3/4) o | THE
R —NFZXHF— B:FTX—-H— ELEME
S o s 3 | HUME 1:11.0 14-14 351 — 11 446 | FREEE ()
2@y 3| /t—>a A51.0 (2 1/2) (o |EERT
R:xA1ZF7—X B:iF by bUy IR () #BA-—KL—Ya>BETy
SIS 4 3 | BEKXE 1:11.2 2-2 37.2| — 6 474 | ERRG=E (BH)
13012 /S >Y7—U—+t 5.0 (4 1/2) Cpy | U0 ESH - TU-s-x a2z
L:xrindaO— B:Yv RuRTULY EBeae
NN N LeligE— 1. - . - RRE (ER
14111 t//7f'7751'7 [B] @ e 57;'?5_0 1(,1\;_)2 = &4 2 (4::32) ;@Z;q-
L:¥r/07Oo4 B 4&2=-7Ea-— KE MF
B 3 | ENEAFE 1:11.5 6-6 36.7| — 15 | 446 | KTIEE ()
15/5(9 | AREX ¥ U — 54.0 (1 3/4) © (B) EvJLy RI77—L
R bk—Lb Bi¥v)—RU—L FsE
5 ft 3 | RN 1:12.2 15-16 [ 36.2| — 16 | 444 |1REEME— (E)
16/ 8|16| ZF¥EIL—T2 540 @ ) |57E @)
RixrdAqO— BiL—F —Ta P E b EN
@ 71 L
) 46.9-35.6
NA>Z4 L | 12.1-10.4-11.3-11.3-11.9-12.4
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= 4,12-14,8,13(9,15) (7,11,10)5,6,2-3,16,1
43—7F— |4,12,14,8,13,9(15,10) (7,11)5,6,2-3-1-16
[ N3
H OB 4 1,860 714K 4-14 1,260H e E 2-7 3,640 JEHE 4-13-14 26,4404
BB 4 610M 4-13 4,870H B = 4-14 3,670M 3EE 4-14-13 156,010
14 250 13-14 1,910 B H 4-14 8,660
13 800F9

ABICOVWTRDTEEERROODE. TR LIV,




